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ARNAV KULKARNI

CARBON FOOTPRINT INFOGRAPHIC 

Household
70 trees

Travel Footprint
21 trees

Transportation
7 trees

Present:


Carbon Footprint is
equal to 153 trees.

Household
128.25 trees

Travel Footprint
41 trees

Transportation
33 trees

FUture

Arnav:


Carbon Footprint is
equal to 242 trees. 

Differences:
In my future, my carbon footprint will be much higher because I will be living in a single home
compared to a dorm shared with hundreds of people. I will also have two cars and be travelling

more than I do currently in college. 


